

به نام او
 تمرین درس ریاضیات پیشرفته ۱
 سری ۵ - معادلات ناهمگن

معادلات ناهمگن زیر را حل کنید.

. . ۱

$$u_t - 4u_{xx} = 5e^{-2x}, \quad 0 < x < \pi, \quad t > 0,$$

$$u(x, 0) = \sin x \quad \text{و} \quad u_x(0, t) = 1 \quad \text{و} \quad u(\pi, t) = 2.$$

. . ۲

$$u_t = 9u_{xx} - 6u_x + u + \sin x, \quad -\pi < x < \pi, \quad t > 0,$$

$$u(x, 0) = x \quad \text{و} \quad u(-\pi, t) = u(\pi, t) + 1 \quad \text{و} \quad u_x(-\pi, t) = u_x(\pi, t) + 2.$$

. . ۳

$$u_t - 4u_{xx} = xt, \quad 0 < x < 1, \quad t > 0,$$

$$u(x, 0) = \sin \pi x \quad \text{و} \quad u(0, t) = t \quad \text{و} \quad u(1, t) = t^2.$$

. . ۴

$$u_t - ku_{xx} = x \cos t, \quad 0 < x < \pi, \quad t > 0,$$

$$u(x, 0) = \sin x \quad \text{و} \quad u_x(0, t) = t^2 \quad \text{و} \quad u_x(\pi, t) = 2t.$$

. . ۵

$$u_t - u_{xx} + u = 2x^2 t, \quad 0 < x < 1, \quad t > 0,$$

$$u(x, 0) = \cos \frac{3\pi}{4} x \quad \text{و} \quad u(0, t) = 1 \quad \text{و} \quad u_x(1, t) = \frac{3\pi}{4}.$$

. . ۶

$$u_t - 2u_{xx} = 1, \quad 0 < x < 1, \quad t > 0,$$

$$u(x, 0) = x \quad \text{و} \quad u_x(0, t) = \sin t \quad \text{و} \quad u_x(1, t) + u(1, t) = 2.$$

. . ۷

$$u_{tt} = c^2 u_{xx} + \sinh x, \quad 0 < x < 1, \quad t > 0,$$

$$u(x, 0) = 0 \quad \text{و} \quad u_t(x, 0) = x \quad \text{و} \quad u(0, t) = 1 \quad \text{و} \quad u_x(1, t) = 2.$$

. . 8

$$u_{tt} = c^2 u_{xx} + u + x^2, \quad 0 < x < \lambda, \quad t > 0,$$
$$u(x, 0) = x \text{ 及 } u_t(x, 0) = 0 \text{ 及 } u_x(0, t) = 0 \text{ 及 } u(\lambda, t) = \lambda.$$

. . 9

$$u_{tt} - u_{xx} = x \sin t, \quad 0 < x < \lambda, \quad t > 0,$$
$$u(x, 0) = x \text{ 及 } u_t(x, 0) = 0 \text{ 及 } u_x(0, t) = t^2 \text{ 及 } u_x(\lambda, t) = \cos t.$$

. . 10

$$u_{tt} - c^2 u_{xx} = xt, \quad 0 < x < \lambda, \quad t > 0,$$
$$u(x, 0) = x \text{ 及 } u_t(x, 0) = 0 \text{ 及 } u(0, t) = t^2 \text{ 及 } u_x(\lambda, t) = \lambda + t.$$

. . 11

$$u_{tt} + c^2 u_t - c^2 u_{xx} = x + t, \quad 0 < x < \lambda, \quad t > 0,$$
$$u(x, 0) = x \text{ 及 } u_t(x, 0) = \lambda \text{ 及 } u_x(0, t) = t \text{ 及 } u(\lambda, t) = \lambda.$$

. . 12

$$u_{tt} - a u_{xx} = x + t^2, \quad 0 < x < \lambda, \quad t > 0,$$
$$u(x, 0) = \sin \frac{\pi x}{\lambda} \text{ 及 } u_t(x, 0) = \lambda + x \text{ 及 } u_x(0, t) = \frac{\pi}{\lambda} \text{ 及 } u_x(\lambda, t) = t.$$

. . 13

$$u_{xx} + u_{yy} = x \cos y, \quad 0 < x < \lambda, \quad 0 < y < \pi,$$
$$u(0, y) = y \text{ 及 } u(\lambda, y) = \lambda \text{ 及 } u_y(x, 0) = x \text{ 及 } u_y(x, \pi) = x + \lambda.$$

. . 14

$$\nabla^2 u = x^2 - y^2, \quad 0 < x < \pi, \quad 0 < y < \lambda,$$
$$u_x(0, y) = y \text{ 及 } u_x(\pi, y) = y^2 \text{ 及 } u_y(x, 0) = x \text{ 及 } u_y(x, \pi) = \sin x.$$

. . 15

$$\nabla^2 u = r\theta, \quad r < \lambda, \quad 0 < \theta < \pi,$$
$$u_r(\lambda, \theta) = \sin \theta \text{ 及 } u(r, 0) = r \text{ 及 } u(r, \pi) = \lambda.$$

. . 16

$$\nabla^{\Upsilon} u = -r^{\Upsilon} \sin \Upsilon \theta, \quad \lambda < r < \Upsilon,$$

$$u_r(\lambda, \theta) = \sin \theta \text{ , } u_r(\Upsilon, \theta) = \cos \theta.$$

. . 17

$$\nabla^{\Upsilon} u = r \cos \Upsilon \theta, \quad r < \Upsilon,$$

$$u(\Upsilon, \theta) = \sin \Upsilon \theta.$$

. . 18

$$u_t = c^{\Upsilon} \nabla^{\Upsilon} u + xyt, \quad \circ < x < \lambda, \quad \circ < y < \lambda, \quad t > \circ,$$

$$u(x, y, \circ) = \sin^{\Upsilon} \pi x \sin \pi y,$$

$$u(\circ, y, t) = u_x(\lambda, y, t) = u_y(x, \circ, t) = u(x, \lambda, t) = \circ.$$

. . 19

$$u_{tt} = c^{\Upsilon} \nabla^{\Upsilon} u + xyz, \quad \circ < x < \lambda, \quad \circ < y < \lambda, \quad \circ < z < \lambda, \quad t > \circ,$$

$$u(x, y, z, \circ) = \sin \pi x \sin \pi y \sin \pi z \text{ , } u_t(x, y, z, \circ) = \circ,$$

$$u(\circ, y, z, t) = u(\lambda, y, z, t) = \circ \text{ , } u(x, \circ, z, t) = u(x, \lambda, z, t) = \circ,$$

$$u(x, y, \circ, t) = u(x, y, \lambda, t) = \circ.$$

. . 20

$$\nabla^{\Upsilon} u = r \sin \theta \cos \phi, \quad r < \lambda,$$

$$u(\lambda, \theta, \phi) = \cos^{\Upsilon} \theta \sin \phi, \quad \circ \leq \theta \leq \Upsilon \pi, \quad \circ \leq \phi \leq \pi.$$

. . 21

$$u_{tt} = c^{\Upsilon} \nabla^{\Upsilon} u + xy \sin t, \quad \circ < x < \pi, \quad \circ < y < \pi, \quad t > \circ,$$

$$u(x, y, \circ) = xy,$$

$$u_t(x, y, \circ) = x + y,$$

$$u(\circ, y, t) = \circ,$$

$$u(\pi, y, t) = y + \cos y,$$

$$u_y(x, \circ, t) = \frac{x}{\pi},$$

$$u(x, \pi, t) = \left(\lambda - \frac{\lambda}{\pi} \right) x + \sin x.$$

. . 22

$$u_{tt} + u_{xxx} = xt, \quad \circ < x < \lambda, \quad t > \circ,$$

$$u(x, \circ) = x \text{ , } u_t(x, \circ) = x + \lambda,$$

$$u(\circ, t) = t \text{ , } u(\lambda, t) = \lambda \text{ , } u_{xx}(\circ, t) = t^{\Upsilon} \text{ , } u_{xx}(\lambda, t) = \circ.$$

. .۲۳

$$u_{tt} + \lambda^4 u_{xxxx} = x + t, \quad 0 < x < \lambda, \quad t > 0,$$

$$u(x, 0) = x + \lambda \quad \text{و} \quad u_t(x, 0) = 0,$$

$$u(0, t) = t \quad \text{و} \quad u(\lambda, t) = t^2 \quad \text{و} \quad u_x(0, t) = \lambda \quad \text{و} \quad u_x(\lambda, t) = t.$$

. .۲۴

$$u_{tt} + u_{xxx} = x \sin t, \quad 0 < x < \lambda, \quad t > 0,$$

$$u(x, 0) = x \quad \text{و} \quad u_t(x, 0) = x,$$

$$u_x(0, t) = t \quad \text{و} \quad u_x(\lambda, t) = \lambda \quad \text{و} \quad u_{xxx}(0, t) = 0 \quad \text{و} \quad u_{xxx}(\lambda, t) = t^2.$$